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B. B. A. (Fifth Semester)
EXAMINATION, Dec,, 2013
(New Course)

Paper Third
INCOME TAX LAWS AND ACCOUNTING

Time : Three Hours | [ Maximum Marks : 70
Note : Attempt all the five questions. All questions carry
equal marks,
3 Distin.guishhehveenta:phnnlngandtﬂemiun.wmt
are the Uhjacﬁwsand&dvanhgﬁuftaxplanmng?
Or
Following are the particulars of taxable income of Mr.

Harish Sureka for the previous year ending on 31st
March, 2013 ;

() Income from House property in Canada T 10,000
which was deposited in a bank in Canada. Qut of
this ¥ 4,000 were remitted to India,

(i) Royalty received in India ¥ 24,000.

(i) Income from business in Sri Lanka ¥ 25,000 of
which ¥ 15000 were received in India. The
business is controlled from India.

(iv) Income from investment in Paris ¥ 10,000.
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2. How is residence of assessee determived for income tax
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{(v] Interest received from a non-resident T 5,000
against a loan given to him to run a business in
Indfa

(vi) Royaity received from A, a resident, for technical
services given to run a business outside India
T 20,000.

(vil) Income from business in Iedia T 40,000, This
business is controlled from America.

(vill) Income from sale of house property in Gwalior
¥ 30,000,

Calculate the total income of Mr. Harish Sureka for the

assessment year 2013-14, il he is {a) Resident, (b) Non-

ordinarily resident and (c) Non-resident in India.

amounted to ¥ 10,000,

purposes 7 Explain the incidence of residence on tax

liability. . from house property.

ar or

Mr. T. N. Kapoor is an employee of 3 Textile Company ol
Indore since 1999, He has submitied the following

particulars of his income for the financlal 2012-13:
T previous year 2012-13 :
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(vi) Travelling allowance for his official tours T 30,000,
Actual expenditure on tour amounted to ¥ 22,000,

(vif) He resides in the bungalow of the company. Its fair
rent s T 3,000 p. m. A watchman and cook have
been provided by the company at the bungalow
who were paid T 400 p. m. each.

(viii) He has been provided with a large motor-car for
his official as well as personal use. The running and
maintenance costs are borne by the company.

(ix)} Employer's contribution to R. P. F. Is T 9,500 and
the interest credited to this furd at 10% rate

Compute income from salaries for the A. Y. 2013-14.

3. Define annual value and state the deductions that are
allowed from the annual value in computing the income

Mr. Suresh Gautam is the owner of two houses which he
uses for his residential purposes. He submits the
following information in respect of thess houses for the

(Il  Net basic salary ¥ 80,000 after deduction of tax at
source T 5000, contribution to recognized House | | House [l
provident fund ¥ 9500 and rent of bungalow & 7 v
i - k. Municipal value %000| 10000

. n

(i) DA Hﬁﬂ.ﬂu_ﬂ:n— (T 200 p. m. enters Bk fent e 2

(i) Education allowance for two children at € 150 p. m. Municipal taxes paid 50 1,500
per child. Fire insurance premia 100 200

(iv) Commission on sales T 10,000, Interest on loan taken for the

construction of the house 000 5,000

(v] Entertainment allowance T 700 p. m.
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His other incomes are ¥ 2,50,000. Advise Mr. Gautam S
which house he should opt for self-occupation (b) Perquisites
concession. . (€} Depreciation
+ What do you mean by set off and carry forward of () Exempted incomes
_gﬂgﬁgquéginﬁ ff and carry (e) g—nggg
forward of losses under Income Tax Ac, 1961 Or
i Inﬂﬂﬁ&:ﬂu:ﬂgﬁgg fT10
each 5
The Investments of Mr. P. N, Agarwal on 1st April, 2012 erteragn ¢ Ehﬁgﬁ“ﬁwﬁ _Hmﬂ...n_
were as given below - Em..EuEH?:tEHEHEEHEEEEHq
{a) T 20,000 10% . P. Govt. Loan, Eﬂmﬁhm ____Eh_l“iﬂ”.ﬂ FM“.”mnﬁ right shares gt
rate per to him. 5t October, 2012 he
b) r _Eh”hngﬂﬁ Debentures sold 200 bomus and 300 righe €120 per
purchased "y share. On 1st January, 2013 he sold Enﬁu.anﬁﬁﬂ
(€) ¥ 7.500,10% Debentures of a Jute Mill Company, halding @ ¥ 200, Compute his taxable capital gains for
(d) ¥ 1000 interest on debentures of 3 Co-operative the assessment year 2013-14 if computation is based on ;
Society. (M Index cost
On 1st October, 2012 he sold his Improvement Trust (H)  Original cost of acquisitio
Debentures for T 11,625 and purchased ¥ 20,000, 129% Also point out that which option is better 7
ﬁﬁ#ﬁawﬁhﬁgiiﬂngﬂ_ngﬁ EEEHI&H_;“_E 1991-92—199
Hm#uﬂgggﬂgmﬂr&ﬂﬂ and 2011 uul._ﬁ.m.“nﬁu 13—852. He has of paid securities

5. Write short fintes on any fwo of the following :

(3)  Agricultural income
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